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B11. %5 A450n0Hh G dhek L&l
v0=515;alpha=45*pi/180;

T=2*v0*sin(alpha)/9.8; %t E KITHTIE]
t= linspace(0,T,17); % K{THIZ
x=v0 *t *cos(alpha); Vot B
y=v0 *t *sin(alpha) -0.5*9.8*t."2;
plot(x,y,x,y,’ r*’)

Xmax=max(x) Xmax=2.7064e+004
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£551: HESTELZH A, BIrE CTE ER

R H 5l H #52 H#R3
20 5 1048|2088 |27TAH
K1TRYIE]
g:98,VO:515, o= Earcsin(%
X=[10,20,27]*1000; 2 Vo
alphal=0.5*asin(g*X/v0/v0); T(a)= 2V, Sina
flyangle=alphal*180/pi g

flytimel=2*v0*sin(alphal)/g
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£552: BHASHITE ITRIE., BE

23 #r4 | B#FES
A5 450 600
KITATIE]

S
0=9.8;v0=515;

alpha2=[45,60]*pi/180;
distance=v0*v0*sin(2*alpha2)/9.8/1000
flytime2=2*v0*sin(alpha2)/9.8
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HAE R 2 $ 05T B IR AE P

alpha=pi1*(1:30)/60;

v0=100;9=9.8; T=2*v0*sin(alpha)/g;
t=(0:16)"*T/16;
X=vO0*t*diag(cos(alpha));
Y=v0*t*diag(sin(alpha))-g*t.~2/2;
plot(X,Y,'k ') NATLAB Editor/Debugger — [Untitledls]

@ File Edit V¥iew Debuz Toolz Window Help

== B & % 8

Stack: |

=]

alpha=pi*(1:30) /60;

wi=100;g=9.8; T=2 *vO¥*=in (alpha) /o;
t=(0:16)"'*T/16;
X=vO*c*diag(cos(alpha)):
Y=vw0*tc*diag(sin(alpha) ) -g*t."2/2;
plot (X, ¥, 't ')
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